Math 724, Fall 2017
Clarifications and Corrections to Bogart’s Text

p-30, Supplementary Problem #1: Interpret “list” as ordered list. In other words, 4 = 2+ 1+ 1 is not
considered to be the same composition as 4 =1+ 1+ 2.

p-100, top line: “number real number” should be “real number”
p.104, problem 228: Ajs should be C.
p-105, bottom paragraph: “If is also” should be “It is also”

p-107, problem 237: For the purpose of the problem, assume that every couple includes one man and one
woman. No political opinion is intended thereby.
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